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(c)
(d)

(e)

(9)

)

2. (a)

12Y—100/59

(2)

Maximum likelihood estimation method
Treww qrT Sneer faf

Cramer-Rao inequality
FR-TE FEHA

Explain central limit theorem.
e fifte v =+t auegd |

Define multiple and partial oond_mﬁon
coefficients.

ﬂﬁﬂﬂﬂ%%ﬁ.ﬁﬂdaﬂ
qionfye ikl :

Define Hotelling T2 -statistic.
WM 72 wleeds =t vfonfie AR

Explain the method of analysis of
variance.

your-fyveme &t Aty = argngd)

Give the definition of classical
probability. State and prove additive
theorem of probability for n events.
What is the result if the events are

mutually exclusive? 15
i A Rroffya sfomn @R o wemed
¥ g miemar & AmeEsar W R =E 3R
frg FRT) AR weod wew e &, @
ot @ qme

( Continued )

fx; 6)=

12Y—100/59

(9)

T favae ® 9 F wHEe 30 = @
g d@eit F o
8x-11y+66 =0
40x-18y-214=0
a HifkR—
(i) xR y & e
(ii) TR TOi;
(ii) x=9% o y = waiww am|

. (a) Differentiate between parametric and

_non-parametric  tests.  State the
assumption of SOS-vamBago test.
Name a test which is both parametric as
well as non-parametric. Explain median
test.

yeivs T Nt qhei m IR AR
srafiw wlenlt § gfka aRecwrett ® =w
F% & whyw & T 4R\, ; T=a @
Iy e @ | wfeke whew R s

Hifsa

(b) Give the sequential probability ratio test

for testing H, :8=86, against
H, : 8 =6,(>8,) in sampling from normal

mew:%
ONHV IWAEUM —o0 L X <00
21 2\ ©

where ¢ is known. Also, obtain its OC
function and ASN function.
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(b)

(4)

s wemm s we-few @ aRfia
HRA TR X I Y wen agfess W §, @
g FfR—

(i) E(XY)=EX)EY)
(i) var(aX +bY)=a® var(X)+ b? var(y).

The first three moments of a
distribution about the value 2 of the
variable are 1, 16 and —40. Show that
the p, =0, uy =15 and pj =-86. Also
show that the first three moments about
the origin are 3, 24 and 76. ,

fodht 9o ¥ uew 2 @ R Ry AR e

e 1, 16 3 —40 §1 R FfA By, =0,

 pg=153Mpug - -86 ¥ 78  Rrg AR T

(c)

12Y—100/59

ﬁ.@@ww@wﬁwuﬁ&uﬁﬁmﬂ“ 3, 24

3k 76 €I

Prove that the correlation coefficient is
the geometric mean of the regression
coefficients. :

e DR Fr Tewa UTH WO OH
TR qTeE g R
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6. (a)

(b)

(7))

State and prove Neyman-Pearson
lemma. Obtain the most powerful test
for testing H,:6=0 against
H, :0=0,(>6q), based on a random
sample of size n, from a population with
density function f(x; 6) = ge~%, x20.

Sr-Rrady S faRed ok 3@ Reg AR AR
ﬁﬁ@ﬁ@@@ﬁﬂﬂﬂﬂu%%

flx; =0e%, x20
n WE W Agiee whed R wnOW,

R wEeEn H,:0=06,>8p) F W@

H, ua.uaowgﬁw@wmﬂ_ﬂﬂﬁ%
$ikd

State the various applications of x2-test,

stating clearly the hypothesis tested and
assumptions made.

x2-wteer % Riftw gy SAEd| T T T
w%@%-%aﬁﬂﬂ%mﬂ,%ﬂ%w
3 3a% R F-9 Heerd ) I #)

. What is au_o principle of least squares?

Explain its use in obtaining an equation

' of second-degree parabola.

12Y—100/59

am o W g w0 87 BErdt wEws w='
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(b) If xy, Xp;**s Xn denotes  a  random

(c)

12Y—100/59

(6)

sample: from a - population with
probability function

Flx; 8)=0%1-""% x=0,1
and if T=x; +Xg + - +Xn, then show
that
T(T-))
nin-1)

is an unbiased estimator of 92.
ﬁﬁ%wﬂmﬂnﬁﬂaaﬂmﬂ?w
flx; 6)=0%1-8)!"% x=0,1

Aw@ﬁ@muix:xn.: forn

T R AR T=x; +xp + +R=%_%_WR
iR fs 02 w1 T IARHG ATHAF
T(T-1)
‘nn-1)

i

What do you understand by interval
estimation? Give its description stating
its relationship with testing of
hypothesis.

%ﬂﬂﬂw%ﬁﬂﬁ%qﬁﬂﬂ«

ThET ¥ T TR g T o h|
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(c)

(d)

(e)

(9

(h)

2. (a)

12Y—100/60

(2)

What is two-stage sampling?
T wioemm a1 #7

What is
experiment?

TGIURHE YA @ w1 A §7

What is lattice design?

AT rfvere = 7

What do you understand by statistieal
quality control?

qifessdta qu-fa=m @ ane v goea §7

meant by a factorial

‘What is linear programming problem?

Waw wsEROT TR T A7

What is transportation problem?
RIS b i ¥

Define simple random sampling. Prove
that the sample mean  and the sample
mean square s? are unbiased for
population mean Y and population
mean square S? in mwbd&m. random

sampling without replacement.

W Agfess vfeamw = sfonfe AR Rig
AR & o e o ww I
i & wfveem v 7 @ wieea af a2
TR F e Y o9 ol e 2 W emfEd
ITReih gl B
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10.

(@)

(b)

(@)

(b)

(7)

What are the principal columns of a
life-table? Explain their significance and
inter-relationship. Mention the uses of
life-table.

Sftem-aroft & g @ w®= §7 39 ol aw
T A T B owmed fav-awo &
TN 1 Fuit R

Describe different measures of fertility.
Distinguish between the net reproduc-
tion rate and gross reproduction rate.

Jata % fafra At w6 v AR 3 o
T IFA W ) F WT FaEd

Give details of o-scaling of scores.
Compare T-scores and standard scores.

@R F o-uRmm K =men HRR | TR ok
HHE TR A gert R

What do you mean by Intelligence
Quotient (IQ)? Describe the procedure
and tests for measuring IQ.

TR o (1Q) ¥ I w wweR §7 10
N A FA A /Y @ whew i =mEn
Easofl

* % ok

12Y—100/60
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4.

12Y—100/60

(a)  Differentiate

(b)

()

(a)

(4)

between a ‘completely
randomized design’ and a randomized
block design’. Illustrate your answer.

‘pfa: argfesdiga wfimee aur ‘agfeshiga
Gew Afimed’ # @1 I 87 IS wia
T |

Discuss with suitable illustration the
role of randomization, replication and
local control in design of experiments.

ST Il Wi W aifmeewn # -

Tefesdiem, g WM 9w R R
e H Eew A

What is the use of missing plot
technique?

STYTH QAF qheieh T T IGGNT 27

What are the principles underlying the
construction of quality control charts?
How do they control quality? Explain in
detail p and np charts.

orar FreEw Rt % fmtn % smafifke R
w1 37 A o H e yer e ww@ €7 p
3R np fAt A R @ =ren AR
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(b)

6. (a)

(b)

12Y—100/60

(5)

Explain the concept of producer’s and
consumer’s risk in sampling inspection
schemes. Define the average sample
number (ASN) and average outgoing
quality (AOQ) in the case of double-
sampling inspection.

e flga Qe & sars @ snde %

sifer & fygral w1 vl SRR Ryl
ﬁ%ﬂm>mzﬁ>oo%§%@w_

What is OR? Give an account of the
scope of OR. Also enumerate various
types of models.

OR =1 87 om%%ﬁﬁw@.&@%w_
faftm wfamEl &0 oft fawo R\

What is queueing problem? Show that if
the interarrival times are negatively
exponentially distributed, the number of
arrivals in a time period is a Poisson
process and conversely.

ufh qHE 1 27 Al Heq ST wEA ST
yluedh B, @ Reed 5 w a e o
AT R TE W NeE 3R she Ruda
o Ragd |
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